[~

7 v g Q \‘__

Jato: 3.3 & TQi 2.4GHz Radio (5507) Parts List

Parts shown in bold are optional accessories. Part categories and individual part listings are arranged alphabetically. Prices are shown in US Dollars.

5265

5261
5263

4609
4611
5119
5124
5116
5114
5123
2545

1926
5526
1726
3935
1834
5514
5511

5511R

5513X
2514
9950
5512

5588
5567

5564
5565

5566
5568

5515G
5515X

5535G
5535
5520
5185
5584

4976
5186A

5186

5515X

5523G
3039

5530
5520
5523
5522

5522X

5592

Air filter housing/ foam insert/ Jato air filter base (long, straight)/
cable tie (1-each) (TRX 2.5, 2.5R, 3.3).ccccoiiiiieciiiieciece e
Air filter inserts, foam (3) (pre-oiled) (TRX 2.5, 2.5R, 3.3)..
Qil, air filter.

Bearings & Bushings

Ball bearings (5x10x4mm) (2) (metal shielded, for clutch bell)........ $8.00
Ball bearings (5x11x4mm) (2) (metal shielded, for clutch bell)........ $6.00
Ball bearings, blue rubber sealed (10x15x4mm) (2) $7.00
Ball bearings, blue rubber sealed (4x7x2.5mm) (2)... .. $4.00
Ball bearings, blue rubber sealed (5x11x4mMmm) (2).......ccccovrvvrvennne $3.50
Ball bearings, blue rubber sealed (5x8x2.5mm) (2).........cccceverurns $4.00

$2.50

Bellcrank bushings (plastic) (4x7x2.5mm) (4) ...
i 4

. $3.00
Body & Accessories

Antenna caps, vinyl (2)/ antenna spool
Antenna crimp nut, aluminum (blue-anodized)/ antenna nut tools ..
Antenna, tube (1)/ vinyl antenna cap (1)/ wire retainer (1) ..............
Body clip (mounting clip), angled, 90-degrees (10) .
Body clips (12) (standard Size) .........c.coovevieiiiiiiiiiiicc e
Body mount, front .........cccooiiiiiiiiiiiee e
Body, Jato (clear, requires painting)/window, lights decal
sheet/ wing and aluminum hardware..........cccccceverriniiesccnnissennns
Body, Jato 3.3, ProGraphix (replacement for the painted
body) Graphics are painted, requires paint & final color
application...
Decal sheet, Jato 3.3............
Decal sheet, racing sponsors.

Official Team Traxxas racing decal set (flag logo/ 6-color)....... $4.50
Wing mounting hardware, (4x8mmCCS (aluminum)(3)/ 4x7mm
FlANGEd NL (B)) ..o $3.00

Brake Components
Brake CaM......cuuiiietieieeeieireie ettt $3.50
Brake cam lever/ linkage rod/ bellcrank/ 4mm ball screw (1)/ 4mm
ball cup (1)/ 3.0NL (1)/ 3X10 SS (1) e $4.25

Brake disc (semi-metallic material)

Brake pads (2)/ brake disc hub/ 3X15 CS (partially

threaded) (2)/2mm pin (1)/ 4mm e-clip (1)..cccvevveeiiiiiieeieieeeie e
Input shaft (slipper shaft)/ slipper shaft spacer...........cccccooiveeenins
Linkage set, throttle & brake (Jato) (includes servo horn, rod
guides, brake spring, brake adjustment dial, rods (wires), throttle

Bumpers & Skidplates

Battery Box Cover, bumper (rear), Exo-Carbon finish (Jato).... $8.00
Battery Box, bumper (rear) (includes battery case with bosses for

wheelie bar, cover, and foam pad) ..........cccccceeiieeiieiies e $7.50
Bumper (front), Exo-Carbon finish (Jato).... $9.00

Bumper, front

Bumper, rear (for use with mid-mounted RX battery)..........ccccc....... $4.00
Tires, rubber (2) (fits Traxxas wheelie bar wheels) .................... $7.00
Wheelie bar/ rear skid (assembled) (fits Jato, requires 5515X for
INSTANIALION).......eceiciicieece e $10.00
Wheels (4)/ Axles (2), for wheelie bar.............cccceviiiiieiciciciee $4.00
Wheels, aluminum (blue-anodized) (2)/ 5x8mm ball

bearings (4)/ axles (2)/ rubber tires (2)........cccvvrrrerininnneersessennaens $19.95
Wheels, aluminum (red-anodized) (2)/ 5x8mm ball

bearings (4)/ axles (2)/ rubber tires (2)..........cccccocevuiiiiiininnncnnenns $19.95

Chassis & Attachments

Battery Box, bumper (rear) (includes battery case with bosses for
wheelie bar, cover, and foam pad)
Battery cover (mid chassis), Exo-Carbon finish (Jato)
Battery holder, 4-cell (no on/off switch) (for Jato and others that
use a male Futaba style connector)
Bulkheads, front (upper & lower)

Bumper, rear (for use with mid-mounted RX battery)......................
ChassiS tOP PIALE .....c.eeueeeiieiciecie ettt $10.00
Chassis, 6061-T6 aluminum (3mm) (anodized blue)/ adhesive

FOAM PAA (1) 1ot $35.00
Chassis, 7075-T6 aluminum (3mm) (titanium-

anodized) (machined, lighter than stock)/ adhesive foam

pad (1) $49.95
CIULCN QUAT ... $2.00

For assistance call 1-888-TRAXXAS, or e-mail Traxxas anytime at support@Traxxas.com

5522G

5527
5527G
5560

5581
5559

5524

5524G
5516
5583
5519
3038

4609
4611
4118

4120

4122

4124

3281
1633
6542X
5244

5119
5580
5136X
5581
5582

5579

5130
5135
5039
5137
2524

5555
5555X
5528
5125

5551
5126
5551X
5150
5550

5127
2754
5553
1654

Complete Exo-Carbon Kit, Jato (includes rear & mid-chassis
battery covers, receiver cover, dirt guards, suspension arms,

front bumper, & fuel tank cap) ......... $75.00
Dirt guards, chassis (left & right) ..o $10.00
Dirt Guards, left & right, Exo-Carbon finish (Jato)............cccc...... $18.00
Engine mount/ engine mount spacers (2)/ 3x15 CS with

washers (4)/ 4x18 BCS (2)/ flathead engine mount screws

BXT0 (2) ceeiteireeeee e $12.00
Gaskets, differential/transmission .............c.ccccoccviiiiiiniiicicis $1.50
Mounts, suspension pin (rear anti-squat blocks) (1.5, 2.25, 3.0 &

3.75 degree) (1 €aCh) .......ccvceeueeeeieeceieeee e $3.50
Receiver box cover (for chassis top plate)/ battery cover (mid

CRASSIS) ..ttt ettt $5.00
Receiver cover (chassis top plate), Exo-Carbon finish (Jato) ... $5.00

Roll hoop/ EZ-Start plug mount
Rubber plugs, charge jack, two-speed adjustment (Jato)
Servo mounts, steering (left & right)
Wiring harness, on-board radio system (includes on/off switch
and charge jack) (Jato

Clutch & Related Parts

Ball bearings (5X10X4MM) (2) ....ooveiviiiiiieieniieeeee e $8.00
Ball bearings (5XT1X4MM) (2) ..veevieeiiieiieeieecieeeee e $6.00
Clutch bell, (18-tooth)/ 5x8x0.5mm fiber washer (2)/ 5mm E-
clip (requires #4609 - ball bearings, 5x10x4mMm (2)) .......cccceeveuee $12.00
Clutch bell, (20-tooth)/ 5x8x0.5mm fiber washer (2)/ 5mm E-
clip (requires #4611-ball bearings, 5x11x4mm (2).......ccccccvvuerenens $12.00

Clutch bell, (22-tooth)/ 5x8x0.5mm fiber washer (2)/ 5mm E-
clip (requires #4611-ball bearings, 5x11x4mm (2))
Clutch bell, (24-tooth)/ 5x8x0.5mm fiber washer (2)/ 5mm
clip (requires #4611-ball bearings, 5x11x4mm (2))
Cone, split DEVEIE.........cocuiiiiieiiiececeeceece s
E-CHPS/ ColiNGS ..vviiiiieie ettt et et

Flywheel (large, knurled for use with starter boxes) .
Flywheel nut (TRX 2.5, 2.5R, 3.3) ....ccooveverinirinencne $4.25
Flywheel with magnet (35mm) $8.00

Teflon washers, 5x8x0.5mm (20) (use with ball bearings

Ball bearings, blue rubber sealed (10x15x4mMm) (2) ......c.cceoveruennene
Cover, differential

Differential oil kit (1 each: 10K, 30K, 50K weights) ..........c.ccevuenns $21.00
Gaskets, differential/transmission .............c.ccccoceviiiiiiiiiicicine $1.50
Gear set, differential (output gears (2)/ spider gears (2)/ spider

AN SNAML) ..o $12.00

Gears, differential 38-T (1)/ differential drive gear 20-T/ side cover
plate (1)/ gasket (1)/ output gear seals (x-ring) (2)/

2.5x8mmCCS (4)/ 5x10X.5MMTW (2) ..eeeiiiiiiiiiiiiiieeeeeee e
Oil, differential (100K weight) (.7 oz (20cc))
Oil, differential (10K Weight) .........ccoriiiiiiiiriiceeee
Oil, differential (500K weight)
Oil, differential (50K weight)
Screws, 2.5x8 countersunk machine (hex drive) (6)
Screws, 3x10mm button-head machine (hex drive

Carriers, stub axle (rear) (left & right).........ccccoovieviiiiiiiiieceee e,

$3.50
Carriers, stub axle, (rear) 6061-T6 aluminum (titanium-anodized).. $40.00

Differential output yokes (2)/yoke pins M3/12.5 (2)......cccccoveeveennne
Drive cups, inner (2) (Jato) (for steel constant-velocity
driveshafts)/ differential spider gears (2)/ gaskets, hardware ... $15.00
Driveshaft assembly (1), left or right (fully assembled, ready to

$4.00

install)/ M3/12.5mm yoke Pin (1) ...cceeiieeiieeiieiie e $11.00
Driveshaft, steel constant-velocity, Jato (shaft only)/ drive

cup pin (1) $9.50
Driveshafts, Jato (steel constant velocity) (assembled with

inner and outer dust boots) (1 pair) $50.00
E-ClipS, 1.5MM (24) 1ottt $1.50
Half shaft set, left or right (internal splined half shaft/ external

splined half shaft/ rubber boot/ metal U-joints) (assembled with

glued boot) (2 @SSEMDIIES) .........cc.cevveeereeieeereee e $8.00
Stub axle (1) (Jato) (for steel constant-velocity driveshaft). $6.00

Stub axle pins (4)
Stub axles, (rear) (2)
Wheel hubs, hex (2)/ stub axle pins (2).......cccceeveeviieeiieniiiieeieenns

REV. 111201 1509



Page 2 Jato: TRX 3.3 & TQi 2.4GHz Radio (5507) Parts List

Engine & Servo Mounts

5560 Engine mount/ engine mount spacers (2)/ 3x15 CS with

washers (4)/ 4x18 BCS (2)/ flathead engine mount screws

BXT0 (2)eeeneeeeeeee ettt $12.00
4859  Screws, 3x10mm flat-head machine (hex drive) (4) ........cceevernrns $1.75
2547  Screws, 4x18mm countersunk machine (hex drive) (6) $2.50

5519  Servo mounts, steering (left & right

Engine Components
Cooling head, PowerTune (machined aluminum, blue-
anodized) (TRX 3.3), head protector (1), 3x6mm CCS (5).............
EZ-Start 2, complete system with controller, drive unit, wiring
harness

5238R

5270R

3980 Glow plug wrench (universal Wrench).........cccoceeeiieiieeiieecieesieenee.
3232  Glow plug, super-duty (long medium)/ gasket...........cccceeirvrecncnnns $7.00
3232X Glow plug, super-duty (long-medium)/gasket .
5228 Head protector, cooling head (1)/3x6mm CCS (5) (TRX 3.3).......... .
5290 Piston/sleeve (matched set), wrist pin clips(2) (TRX 3.3)......c.c....... $80.00
5211R Roller clutch/ 6x8x0.5 TW (1) (also called one-way bearing) (TRX

2.5, 2.5R, 3.3) i $22.50
5277  Shaft, starter (TRX 2.5, 2.5R, 3.3) ...cccciiiiiiiiiiiiiiiiccccieee $9.00
5170 Starter, recoil (complete with screws) (TRX 2.5, 2.5R, 3.3)........ $20.00
4091 Temp gauge, blue (On-board engine tuning aid, digital LCD

readout, new style with max. temp. memo .. $27.75

5546  Hanger, metal (for tuned pipe)/ 4x8 BCS (1)/ 3x10 BCS (1) ........... $2.00
5540 Header, exhaust (Jato) (tubular aluminum, clear anodized) (TRX

2.5, 2.5R, 3.3) i $20.00
5256 O-ring, header 12.2x1mm (TRX 2.5, 2.5R, 3.3) ..cccceovieviiiieeieeen, $1.20
5245X Pipe coupler, molded (black)/ exhaust deflecter (rubber,

black)/ cable ties, long (2)/ cable ties, short (2) ........ccccceeeirrennene $4.00
5245  Pipe coupler, molded (blue)/ exhaust deflecter (rubber, blue)/

cable ties, long (2)/ cable ties, short (2).........ccceevvivienieeiieecieeiene $4.00
5142  Screws, 3x15mm cap-head machine (hex drive) (with split and

flat WaSHEIS) (8) .....vcveveeeeieeieeeeieeecteete ettt $2.75
5485 Tuned pipe, Resonator, R.0.A.R. legal (dual-chamber,

enhances mid to high-rpm power) (for Jato, N. Rustler, N. 4-

Tec with TRX Racing Engines) $55.00
5483 Tuned pipe, Resonator, R.0.A.R. legal (single-chamber,

enhances low to mid-rpm power) (for Jato, N. Rustler, N. 4-

Tec with TRX Racing Engines) $50.00
5541X Tuned pipe, Resonator, R.O.A.R. legal, blue-

anodized (aluminum, single chamber) (fits Jato, N. Rustler, N. 4-
Tec, with TRX Racing Engines)................

EZ Start 2 & Related parts

Control box (complete) (EZ-Start 2) .
Control box battery cover w/ belt clip (EZ-Start 2)..........ccccceeveennene
Cush-drive elements (4) (EZ-Start 2)........ccccoovvoeviniiiiieieeice
EZ-Start 2 wiring harness (for Jato)
EZ-Start 2, complete system with controller, drive unit, wiring
harmess....................
Gear set (complete) (EZ-Start 2) ........ccccceeevveviecieeieeeieeienn
Grease, white lithium......
Housing set (inner, outer)/ 3x12mmBCS (5)/ 3x20BCS (1)/ motor
bushing (EZ-Start 2) ..........cceoeiiiiieiiiee e
Lead wire, glow plug (blue) (EZ-Start and EZ-Start 2)/ molex pin
extractor (use where glow plug wire does not have bullet
foo]a 1T ox (o] o HU SO R RTR TP RRR PSP
Motor/ pinion gear/ motor bushing (EZ-Start 2)
Roller clutch/ 6x8x0.5 TW (1) (also called one-way bearing) (TRX
2.5, 2.5R, 3.3) i
Screws, 2.6x8mm countersunk maching (6) ..........ccccoeeveevverieennnn
Screws, 3x12mm button-head machine (6) (starter attachment
screws With Threadlock) ...........cocveeieeiiieriieiie e
Screws, 3x12mm button-head machine (hex drive) (6)
Shaft, starter (TRX 2.5, 2.5R, 3.3

5281
5273
4583
5270R

5276
5148
5275

4581X

5279
5211R

5169
5282

2578
5277

5530 Bulkheads, front (Upper & [OWET) .......cccceeieeiiieiieeiieiiieeciee e $10.00
5536 Caster blocks, 25-degree (left & right)/ steering blocks, 25-

degree (left & right)..........cceevvevcereserierencnnens $6.00
5536X Caster blocks, 25-degree, titanium-anodized 6061-T6

aluminum (left & right) $38.00
5532 Caster blocks, 30-degree (left & right)/ steering blocks, 30-

degree (I8ft & FIgNt) .......c.coveviieieecieeeeeeee e $6.00
5532X Caster blocks, 30-degree, titanium-anodized 6061-T6

aluminum (left & right) $38.00
5525 Rod ends (12)/ hollow balls (12) (fits Jato, includes 4 hollow balls

for inner camber link)
5525R Rod ends, heavy duty (Jato/Slayer) (8)....
5529  Shim set (for adjusting Jato roll center)/ hollow balls (for inner

CAMDET INKS) (4) vt

5518  ShOCK tOWET, fIONt .....oveieviiiiieiiieieiee et $5.00
5536R Steering blocks, titanium-anodized 6061-T6 aluminum (left &

right) (For use with 25 and 30-degree caster blocks) ................. $28.00
5531  Suspension arms, front (left & right)...........cocooiviiiiiiii i $10.00
5531G Suspension arms, front (left & right), Exo-Carbon

finish (Jato) $17.00
5554 Suspension down stop screws (includes 2.5mm drill

bit) (limits suspension droop, sets maximum ride height) ........ $4.50
5521 Suspension pin set, complete (hardened steel, front & rear),

3x27mm (4), 3x35mm (2), 3X52MM (4) ..ceveiviiiiiiiiieee e $8.00
5589X Sway bar kit (front and rear) (includes sway bars and linkage)....... $19.50
5596 Sway bars (front) (includes soft, medium, hard).................. .. $7.00
5558 Tie bars (front & rear)...... $5.00
5537 Wheel spindles, front (left $8.00

9
5537X Wheel spindles, front, 7075-T6 alumlnum blue-anodized (left
& right

$11.00

Fuel Tank & Line

3935 Body clip (mounting clip), angled, 90-degrees (10)...
3147X Fuel line (610mMmM OF 2t) ......ccoviiiiiiiiiieeeeee e
5548 Fuel tank (75cc, COMPIELE) ....ccueviuiieiiiiiieieie e
5547G Fuel tank cap, Exo-Carbon finish (Jato)
3149A Heat shield tubing, fiberglass (2) (black) .........cccccovvvvivienieiiiiiieenns
5547  Pull ring (1)/ fuel tank cap (1)/ engine shut-off clamp (1)/ 3x10

BCS (1)t
5549  Rebuild kit, fuel tank (includes: o-ring, grommets (2), cap spring,
hardware) ...

uel, Lubricants & Sunnlles
5001 Bottle, fuel filler (500cc)
3232  Glow plug, super-duty (long medium)/ gasket
3232X Glow plug, super-duty (long-medium)/gasket.............c.cc.o......

5148 Grease, white lithium ....
5263 Oil, air filter X
5130 Oil, differential (100K weight) (.7 0z (20CC)) .....cccerrmrserseerersnnsenns, $8.00
5135 OQil, differential (10K weight) . .
5136 Oil, differential (30K weight).......ccccceeririiirriceninnnisnicescee e $7.50
5039 Oil, differential (500K weight) $8.00
5137 Oil, differential (50K weight).......ccccceerviriieiiceniienisnicesceessnsceeens $7.50
5001R Rebuild kit, fuel filler bottle (includes bottle lid (1) and

dispensing tube caps, rubber (2) (fits 8mm or 5/16"

dispensing tube)) $2.50
1666  Silicone shock Oil (30 Wt).....cccovviiiiieiiiiiieieceece e $2.00
5060 Top Fuel, 10% nitro (gallon) $31.00
5010 Top Fuel, 10% nitro (quart) $11.75
5070 Top Fuel, 20% nitro (gallon) .........ccceverimiieerennnensnnese e, $41.50
5020 Top Fuel, 20% nitro (quart) $14.75
5080 Top Fuel, 33% nitro (gallon) .........cccveriminencnnnnessnesese e, $51.50

5526  Antenna crimp nut, aluminum (blue-anodized)/ antenna nut tools..  $4.00
3935 Body clip (mounting clip), angled, 90-degrees (10) $3.00
1834 Body clips (12) (standard size).... .. $2.00
5150  E-clips, 1.5MM (24) ...ccoomiiiiiiiiiiicceet s $1.50
1633 E-ClPS/ CoTiNGS .uveviitiieiieiesieiiete ettt $2.00
5477  Flat wrench, 5mm (blue-anodized aluminum) . $4.00
5478  Flat wrench, 8mm (blue-anodized aluminum) $4.00
3980 Glow plug wrench (universal Wrench) ..........ccceeceeviiiiiienieeeieeieenns $2.00
5476X Hex wrenches; 1.5mm, 2mm, 2.5mm, 3mm, 2.5 ball ... $6.00
5475  Multi-tool (PIASHC) .....eeveeiiiiiieicie e $2.50
5158  Nuts, 2.5mm nylon [0cKiNg (12) .....ccoviiiieiiiiie i $2.50
2745  Nuts, 3mm nylon locking (12) .. $2.00
3647 Nuts, 4mm flanged nylon locking (steel, serrated) (8) ............... $3.25
1747 Nuts, 4mm nylon 10cking (10) .....coveriiiiiiiiniieeee e $2.00
4147X Nuts, 5mm flanged nylon locking (aluminum, blue-

ANOAIZEA) (4) vvueeeerreeererseere st se s e se e ss e e nneneans $6.00
4147  Nuts, 5mm nylon [0CKiNg (8).....c.cevveeiieiiieeieeiieeieecieee e $2.00
1747R Nuts, aluminum, flanged, serrated (4mm) (blue-anodized) (4)... $7.50
1747G Nuts, aluminum, flanged, serrated (4mm) (green-

ANOAIZEA) (4) cvrveueeeerreeererseere et e st se s e e s e se s nennans $7.50
3229 Screws, 2.5x10mm cap-head machine (hex drive) (6) .. $2.50
2524  Screws, 2.5x8 countersunk machine (hex drive) (6) .........ccccccevenene $2.50
5169 Screws, 2.6x8mm countersunk machine (6) ..........cccccceevvvvievieneennne $2.00
2674 Screws, 2x6mm roundhead self-tapping (6).... . $1.50
2577  Screws, 3x10mm button-head machine (hex drive) (6)................... $2.50
4859  Screws, 3x10mm flat-head machine (hex drive) (4).......ccccceevveenenne $1.75
5282  Screws, 3x12mm button-head machine (6) (starter attachment

screws With ThreadloCk) ...........c.eveueeveiivieieeeeeeceeeeeeve et $3.00
2578  Screws, 3x12mm button-head machine (hex drive) (6)................... $2.50
2579  Screws, 3x15mm button-head machine (hex drive) (6).... $2.50
5142  Screws, 3x15mm cap-head machine (hex drive) (with split and

flat WaSHEIS) (8).......ccvereeveierieieeieee ettt $2.75

REV. 111201 1509



Page 3 Jato: TRX 3.3 & TQi 2.4GHz Radio (5507) Parts List

2553  Screws, 3x15mm countersunk machine (6) (hex drive) ................. $2.50
2583  Screws, 3x18mm button-head machine (hex drive) (6)... .. $2.50
2580 Screws, 3x20mm button-head machine (hex drive) (6)................... $2.50
2575 Screws, 3x6mm button-head machine (hex drive) (6).........ccccccuc.. $2.50
2554  Screws, 3x6mm cap-head machine (hex drive) (6)... $2.50
3932  Screws, 3x6mm flat-head machine (hex drive) (6) $2.50
2550 Screws, 3x8mm countersunk machine (6) (hex drive) .................... $2.50
2535 Screws, 4x10mm countersunk machine (hex drive) (6) .. $2.50
3937 Screws, 4x12mm button-head machine (hex drive) (6)... .. $2.50
2547  Screws, 4x18mm countersunk machine (hex drive) (6) .................. $2.50
3940 Screws, 4x4mm button-head machine, aluminum (blue) (hex

AMIVE) (B) vvereieieieisieiete sttt sttt $3.50
4897  Screws, set (grub) 4mm (6) (with threadlock)............ceeeriiiiiienenne $3.00
3967 Shoulder screws 3x10 (6) (without threadlock) .. $3.50
5149 Spacers, steel (Jato Twin-Spoke wheels, front) (4) . $2.75
5534  Spacers, stub axle carrier (I ar) ........ccccveeriereeeiieesieeree e $2.50
5512  Wing mounting hardware, (4x8mmCCS (aluminum)(3)/ 4x7mm

FlANGEA NL (3))...ouiiiiiiiiiiiiiiii e $3.00

Radio System, Batteries, Charger

3065 Adapter, Traxxas connector female to Traxxas receiver battery

pack (for charging) (1) Call
1726  Antenna, tube (1)/ vinyl antenna cap (1)/ wire retainer (1)..........cccoeueveee $1.00
3039 Battery holder, 4-cell (no on/off switch) (for Jato and others that use a

male Futaba style CONNECLOT)..........cccueiiiiiiiesce e $4.00
3036 Battery, RX Power Pack (5-cell flat style, GP cells, NiMH,

1200mAh) $30.00
2919  Battery, Series 1 Power Cell 1500mAh (NiMH, 6-C flat, 7.2V, Sub-C)... $15.25
2734  Cable ties (small) (10)
2921  Charger, A/C, 350 mA (6 cell, NiMH) (includes adapters for Traxxas

connector and Futaba plug) X
6510 Docking base, TQi 2.4 GHz transmitter (iPod/iPhone) .. $70.00
2010  Gear set (for 2018 SEIVOS)......c.vvuvireierieeieiriseeeeessieese st ssessesees $4.00
3031 Power adapter, AC (for TRX Power Charger) (switching type,

auto power input selection 100-240VAC 50-60 HZ)............cccoconerenennes $19.00
3032 Power adapter, DC (12V car adapter for TRX Power Charger)......... $7.50
6518  Receiver, micro, TQi 2.4GHz with telemetry (5-channel)...
2052  Servo case (for 2055 servo) .
2053  Servo gears (for 2055 and 2056 SEIVOS)........coieerrereecereriiemerrerieieeneeens $4.00
2070 Servo, digital high-torque (ball bearing) $40.00
2075 Servo, digital high-torque (ball bearing), waterproof....
2055  Servo, high-torque..........cceueueeueeeecieriseeesseeens
2056 Servo, high-torque, waterproof (blue case)
6550 Telemetry expander, TQi radio system $40.00
6551 Telemetry GPS module, TQi radio system $120.00
6509 TQi 2.4 GHz High Output radio system, 2-channel (2-ch.

transmitter & 5-ch. receiver) $125.00
6513  Transmitter, TQi 2.4GHz high output, 2-channel (transmitter only)........ $100.00
3030X TRX Power Charger, 1A, peak detecting/ AC adapter (for

charging NiCad or NiMH 5-cell receiver packs and 6-cell (7.2V)

EZ-Start packs) (includes plug adapter for 7.2V packs)..........cueeeune $40.00
3038  Wiring haress, on-board radio system (includes on/off switch and

Charge Jack) (JAt0).........covuuiuuiieiiiiiiiii e $6.00

Ready-to-Race Model

Jato 3.3: 1/10-Scale 2-Speed Nitro-Powered 2WD Stadium Truck
with TQi 2.4GHZz radio SYSteM .........c..ccvvveiiiiiiiiiiieee

5507

Carriers, stub axle (rear) (left & right) .........ccocoeeviiiiiiiiieee

5555X Carriers, stub axle, (rear) 6061-T6 aluminum (titanium-

ANOAIZEA) ...ecureuenceeneeeeeeee et sennne $40.00
5559  Mounts, suspension pin (rear anti-squat blocks) (1.5, 2.25, 3.0 &

3.75 degree) (1 €aCh) ...c.cuiuiieieriirieieiee et $3.50
5525 Rod ends (12)/ hollow balls (12) (fits Jato, includes 4 hollow balls

for iNNer CamMDEr lINK) .........ccoviiueeiieieiie et e $9.00
5525R Rod ends, heavy duty (Jato/Slayer) (8)......cc.ccvveerrrersseesseesssneninns $4.00
5529  Shim set (for adjusting Jato roll center)/ hollow balls (for inner

CAMDBET INKS) (4) c.viivieeie ettt et be s
5517  ShOCK tOWET, FEAI.......eiiiitiiiiiieiti e
5534  Spacers, stub axle carrier (rear).. .
5553  Stub axles, (far) (2).......uvuuuereriiieeeie et
5533  Suspension arms, rear (left & right).........c.ccccevviiiiiiieiiiiceeee, $10.00
5533G Suspension arms, rear (left & right), Exo-Carbon finish (Jato). $17.00
5554 Suspension down stop screws (includes 2.5mm drill

bit) (limits suspension droop, sets maximum ride height)........ $4.50
5521  Suspension pin set, complete (hardened steel, front & rear),

3x27mm (4), 3x35mm (2), 3X52MM (4) ...eovviiiiiieiieee e $8.00
5589X Sway bar kit (front and rear) (includes sway bars and linkage)....... $19.50
5597 Sway bars (rear) (includes soft, medium, hard) .
5558  Tie bars (front & rear) ........ccceiiiiieiiiiiee e .
5557 Tie bars (rear) (3 & 5-degree toe adjustment).........c.ccceeveriieernens $5.00

5277 Shaft, starter (TRX 2.5, 2.5R, 3.3)

5170 Starter, recoil icomilete with screws

5466 Body, GTR shock (aluminum) (1)
5467A Body, GTR shock (aluminum, blue-anodized) (1)
5467R Body, GTR shock (aluminum, red-anodized) (1) .....ccccecerrrrennnnnns
5466X Body, GTR shock (hard-anodized, Teflon-coated
aluminum) (1)........
Body, GTR shock (molded composite) (2)
Caps and spring retainers, GTR shock (upper cap (2)/ hollow
balls (2)/ bottom cap (2)/ upper retainer (2)/ lower retainer (2)) ......
Dust boot, shock (expandable, seals and protects shock
shaft)(1 pair) .........
MUlti-toO] (PIASHIC) ...t
Nuts, 2.5mm nylon locking (12)
Rebuild kit, GTR composite shocks (x-rings, bladders, all pistons,
piston nuts, shock rod ends) renews 2 shocks
5469 Rod ends (GTR ShOCKS) (B) ......cceeieriiriiiiiiiiicic e
5463 Shaft, GTR shock (2) (Stainless) .........ccceeviiiiriiieiiiieie e
5463T Shaft, GTR shock TiN-coated (2)
5460 Shocks, GTR aluminum (assembled) (2) (without springs) .......
5460A Shocks, GTR aluminum, blue-anodized (fully assembled w/o
SPrings) (4) .ccccvververrierrieesieesseesssensnes
5460R Shocks, GTR aluminum, red-anodized (fully assembled w/o
springs) (4)
5561 Shocks, GTR composite (assembled) (2) (without springs)............
5460X Shocks, GTR hard-anodized, Teflon-coated aluminum bodies
with TiN shafts (fully assembled w/o springs) (4)..........
1666  Silicone shock oil (30 Wt).....cccocvvevieiiiiiiecieccieeeeie
5461 Variable damping kit, GTR shocks (includes #1, #2, #3

TRX 2.5, 2.5R, 3.3

5467
5465

5464

5475
5158
5562

5552X Rebuild kit, slipper clutch (steel disc/ friction pads (3)/ spring (2)/

pin/ 4.0mm NL (1)/ 5.0MmM NL (1)) cooovereiiiiiiieeeeeee e
2554  Screws, 3x6mm cap-head machine (hex drive) (6)
5556  Slipper pressure plate & hub (aluminum allo:

5433A Spring, shock (red) (GTR) (1.4 rate double pink stripe)
5434A Spring, shock (red) (GTR) (1.6 rate double blue stripe)
5940 Spring, shock (red) (GTR) (1.8 rate double green stripe) (1

o 11 USSR $6.00
5941 Spring, shock (red) (GTR) (2.0 rate double black stripe) (1

o 11 USSR ... $6.00
5942 Spring, shock (red) (GTR) (2.3 rate double purple stripe) (1

o 11 TR ... $6.00
5427 Spring, shock (white) (GTR) (front 0.7 yellow) (1 pair) .......ccceue. $5.00
5428 Spring, shock (white) (GTR) (front) (0.9 rate orange) (1 pair) .... $5.00
5432 Spring, shock (white) (GTR) (front) (1.3 rate gold) (1 pair)...
5429 Spring, shock (white) (GTR) (rear) (1.0 rate tan) (1 pair) ...
5431 Spring, shock (white) (GTR) (rear) (1.2 rate silver) (1 pair) ..
5434 Spring, shock (white) (GTR) (rear) (1.6 rate blue) (1 pair) .......... X
5430 Spring, shock (white) (GTR) (std. front) (1.1 rate green) (1 pair)....  $5.00
5433 Spring, shock (white) (GTR) (std. rear) (1.4 rate pink) (1 pair)........ $5.00

Spur Gears & Clutch Bells

4118  Clutch bell, (18-tooth)/ 5x8x0.5mm fiber washer (2)/ 5mm E-

clip (requires #4609 - ball bearings, 5x10x4mMm (2)) .......cccceeveuen $12.00
4120 Clutch bell, (20-tooth)/ 5x8x0.5mm fiber washer (2)/ 5mm E-

clip (requires #4611-ball bearings, 5Xx11x4mm (2).......cccccevvuerrnnns $12.00
4122  Clutch bell, (22-tooth)/ 5x8x0.5mm fiber washer (2)/ 5mm E-

clip (requires #4611-ball bearings, 5x11x4mm (2)) ........cccveerrnen $12.00
4124  Clutch bell, (24-tooth)/ 5x8x0.5mm fiber washer (2)/ 5mm E-

clip (requires #4611-ball bearings, 5x11x4mm (2)) .....ccoevveevneenen. $12.00
2554  Screws, 3x6mm cap-head machine (hex drive) (6)... .. $2.50
3956  Spur gear, 54-tooth (0.8 metric pitch, compatible with 32-pitch)..... $3.00
3957 Spur gear, 56-tooth (0.8 metric pitch, compatible with 32-

o1 L1 1) U $3.00
3958 Spur gear, 58-tooth (0.8 metric pitch, compatible with 32-

Steering Components
5123 Bellcrank bushings (plastic) (4X7X2.5mm) (4) .....ccoovvvvereninieeienens
5544  Bellcrank posts (steering)(2)
5542X Drag link, machined 6061-T6 aluminum (blue-anodized)/

5x8x2.5 ball bearing (2).....c.ccceeerrerireseessnnsennensnens $17.50
5355X Hollow ball set, aluminum (30)/ tall centered hollow ball (2)/

tall offset hollow ball (2)/ bump steer adjustment shims;

3.5mm (2), 1.17mMmm (2)...ceererrnecrnreseennns ... $29.50

REV. 111201 1509



Page 4 Jato: TRX 3.3 & TQi 2.4GHz Radio (5507) Parts List

5545  Servo horn, steering/ linkage, steering (3x30 threaded rod)/ rod
ends (2)/ hollow DallS (2).......cceiiiiiiiiiiiiiciieee e
Servo horns, steering and throttle (for non-Traxxas

servos (Hitec, JR, KO, Airtronics))...
Servo, high-torqQUE ..........ccveiiieiiiiiece e
Steering bellcranks/ servo saver/ servo saver spring/ steering
support/ 4x7x2.5 PB (4)/ 5x0.8mm NL (1)...
Steering drag link/ 3x10mm shoulder screws (without

threadlIock) (2).....ccveeiieeie et
Turnbuckle, aluminum (red-anodized), camber link,

58mm (1) (assembled with rod ends and hollow balls) (see
part 5539X for complete set of Jato aluminum turnbuckles) ....
Turnbuckle, aluminum (red-anodized), front toe link,

61mm (1) (assembled with rod ends and hollow balls) (see
part 5539X for complete set of Jato aluminum turnbuckles) ....
Turnbuckles, aluminum (red-anodized), camber links,

58mm (4)/ front toe links, 61mm (2) (assembled with rod ends
and hollow balls)/ aluminum 5mm wrench (red-anodized).......
Turnbuckles, toe-links, 61mm (front or rear) (2) (assembled with
rod ends and hollow balls

5545X

2055
5543

5542

5594

$7.00

5595

$7.00
5539X

5538

5529X Ball studs, aluminum, hard-anodized, Teflon-coated (4) (use

for inner camber link mounting).........ccccveceervniieicsennnns ... $10.00
5355X Hollow ball set, aluminum (30)/ tall centered hollow ball (2)/ tall

offset hollow ball (2)/ bump steer adjustment shims; 3.5mm (2),

TATINM (2) o $29.50

5525 Rod ends (12)/ hollow balls (12) (fits Jato, includes 4 hollow balls

for inner camber lINK) .........coooiiiiiii e .
5525R Rod ends, heavy duty (Jato/Slayer) (8)......cc.ccueerrrersseesserssnesinns $4.00
5521  Suspension pin set, complete (hardened steel, front & rear),

3x27mm (4), 3x35mm (2), 3X52MM (4) ...eooivieiieeieeieeeeee e $8.00
5594 Turnbuckle, aluminum (red-anodized), camber link,

58mm (1) (assembled with rod ends and hollow balls) (see

part 5539X for complete set of Jato aluminum turnbuckles) .... $7.00
5595 Turnbuckle, aluminum (red-anodized), front toe link,

61mm (1) (assembled with rod ends and hollow balls) (see

part 5539X for complete set of Jato aluminum turnbuckles).... $7.00
5539X Turnbuckles, aluminum (red-anodized), camber links,

58mm (4)/ front toe links, 61mm (2) (assembled with rod ends

and hollow balls)/ aluminum 5mm wrench (red-anodized)....... $34.00
5539  Turnbuckles, camber links, 58mm (assembled with rod ends and

NONOW DAIIS) (2)....vvivieiieieiiieieiee ettt $7.50
5538 Turnbuckles, toe-links, 61mm (front or rear) (2) (assembled with

rod ends and hollow balls

Team Traxxas ltems

5840 Camera, video (Go Pro R/C Hero with mounts and waterproof

[ oYU T=1] Ve ) OO R ... $340.00
2514 Decal sheet, racing SPONSOrS........cccecmriniinnsianins $3.00
6160X DVD, Maxx Power! Full Throttle Action (sleeve)... . $12.99
9950 Official Team Traxxas racing decal set (flag logo/ 6-color). $4.50
9909 Traxxas racing banner, red & black (3x7 feet . $15.00

Throttle & Brake Linkage

5588  Brake Cami......cccuoiiiiuiiiiieiiiiiieetei et $3.50
5567 Brake cam lever/ linkage rod/ bellcrank/ 4mm ball screw (1)/ 4mm

ball cup (1)/ 3.0NL (1)/ 3X10 SS (1) eveviiiiiiiiiiiiiiicecicene $4.25
5568 Linkage set, throttle & brake (Jato) (includes servo horn, rod

guides, brake spring, brake adjustment dial, rods (wires), throttle

return spring, hardware) ...........cooceeeeiiieiecieee e $9.00
5545X Servo horns, steering and throttle (for non-Traxxas

servos (Hitec, JR, KO, Airtronics))...
Spring, throttle return (2) (Jato, T-Maxx 2.5R, 3.3)....

Tires & Wheels

4056

4607 Ball bearings (5x11x4mm) (8) ....
4611  Ball bearings (5x11x4mm) (2) ........
1974 Lite-wheels, dished (2) (front) (for 2.2" tires).
1972 Lite-wheels, dished (2) (rear) (for 2.2" tires) .....
3647 Nuts, 4mm flanged nylon locking (steel, serrated) (8)
1747  Nuts, 4mm nylon 10cKiNg (10) ....covieiiiiiiiieie e .
1747R Nuts, aluminum, flanged, serrated (4mm) (blue-anodized) (4).. $7.50
1747G Nuts, aluminum, flanged, serrated (4mm) (green-

anodized) (4)
5149 Spacers, steel (Jato Twin-Spoke wheels, front) (4)...
2754  Stub axle pins (4)
3777A Tires & wheels, assembled, glued (All-Star black chrome

wheels, Anaconda tires, foam inserts) (nitro front) (1 left, 1

right) $33.00
3776A Tires & wheels, assembled, glued (All-Star black chrome

wheels, Anaconda tires, foam inserts) (nitro rear/ electric

front) (1 1eft, 1 FgNt)....cccooeeeceeecreee e $33.00
5577R Tires & wheels, assembled, glued (All-Star chrome wheels,

Anaconda tires, foam inserts) (nitro front) (1 left, 1 right)....

5576R

5575

5573

5569
5578
4790R

5563
5571
5570
4174
4172
1654
1654X

5576
5577A
5576A

5577
5574
5572

5119
5116
5592
5581
5585
5586
5591
5566
5593

5583
5593X

5477
5545

5594

5595

5539X

5539

5538

5119
5116
5585
5586
5590
5583

Tires & wheels, assembled, glued (All-Star chrome wheels,
Anaconda tires, foam inserts) (nitro rear/ electric front) (1 left, 1

TIGNE) et $32.00
Tires & wheels, assembled, glued (Twin-Spoke wheels,

Victory tires, foam inserts) (nitro front) (2) ........ccoocvimrverininniennans $28.00
Tires & wheels, assembled, glued (Twin-Spoke wheels,

Victory tires, foam inserts) (nitro rear) (2) .......c.ccoevimrreriensnniennans $28.00
Tires, Alias 2.8" (soft-compound) (rear) (2)/ foam inserts (2)..... $20.00
Tires, Anaconda 2.8" (2)/ foam iNSerts (2).......cccccevvveeveenieiieeenineenns $20.00

Tires, Pro-Trax spiked 2.2" (soft-compound)(rear) (2)/ foam
inserts (2)
Tires, ribbed 2.8" (front) (2)/ foam inserts (2) ....
Tires, Victory 2.8" (front) (2)/ foam inserts (2)
Tires, Victory 2.8" (rear) (2)/ foam inserts (2) ........ccocveeerieriersennnns
TRX Pro-Star chrome wheels (2) (front) (for 2.2" tires)..
TRX Pro-Star chrome wheels (2) (rear) (for 2.2" tires)........ccc...
Wheel hubs, hex (2)/ stub axle pins (2).......cccceevieriieeiieiiiiieeieenne
Wheel hubs, hex (blue-anodized, lightweight aluminum) (2)/

axle PiNS(2)....ccccceerieriiresserisnnssensnens
Wheels, All Star 2.8" (chrome) (rear) (2) ........ccceverireeieninieeneneens
Wheels, All-Star 2.8" (black chrome) (nitro front) (2)
Wheels, All-Star 2.8" (black chrome) (nitro rear/ electric
front) (2).......
Wheels, All-Star 2.8" (chrome) (nitro front) (2)

Wheels, Twin-Spoke 2.8" (chrome) (nitro front) (2) $8.00
Wheels, Twin-Spoke 2.8" (chrome) (nitro rear/ electric
FTONE) (2).uuieieinisieieieisiene e $8.00

Transmission Components

Ball bearings, blue rubber sealed (10x15x4mm) (2) . $7.00
Ball bearings, blue rubber sealed (5x11x4mm) (2) ... $3.50
CIULCN QUAT ... $2.00
Gaskets, differential/transmission ..., $1.50
Gear set, two-speed (2nd speed gear, 29T/ input gear, 17T steel).  $7.00
Gear, 1st speed 32T/ input gear 14T ......ccoovvevieeiieiieeee e $5.00
Gearbox halves (right & 16ft)..........ccceririreeiirieiireeee e $5.00
Input shaft (slipper shaft)/ slipper shaft spacer $6.00
Primary shaft/ 1st speed hub/one-way bearing/ snap ring/ 5x8x0.5

.. $26.00
Rubber plugs, charge jack, two-speed adjustment (Jato) ............... $1.50

Single speed conversion kit (eliminates the 2-speed, makes
Jato race legal). ...

Turnbuckles & Threaded rods

Flat wrench, 5mm (blue-anodized aluminum) ...........cccccoevvenieennnn.
Servo horn, steering/ linkage, steering (3x30 threaded rod)/ rod
ends (2)/ hollow balls (2) ......cceeieeeiieiiieiieeieeee e
Turnbuckle, aluminum (red-anodized), camber link,

58mm (1) (assembled with rod ends and hollow balls) (see
part 5539X for complete set of Jato aluminum turnbuckles).....
Turnbuckle, aluminum (red-anodized), front toe link,

61mm (1) (assembled with rod ends and hollow balls) (see
part 5539X for complete set of Jato aluminum turnbuckles).....
Turnbuckles, aluminum (red-anodized), camber links,

58mm (4)/ front toe links, 61mm (2) (assembled with rod ends
and hollow balls)/ aluminum 5mm wrench (red-anodized) .......
Turnbuckles, camber links, 58mm (assembled with rod ends and
hOIOW DaIIS) (2) ...t e
Turnbuckles, toe-links, 61mm (front or rear) (2) (assembled with
rod ends and hollow balls

Two-Speed Components

Ball bearings, blue rubber sealed (10x15x4mMm) (2) ......c.cceevevennene $7.00
Ball bearings, blue rubber sealed (5x11x4mm) (2) ......cccccoveeveennne $3.50
Gear set, two-speed (2nd speed gear, 29T/ input gear, 17T steel).  $7.00

Gear, 1st speed 32T/ input gear 14T
Primary clutch assembly (two-speed shift hub)............ccccooveieiinne
Rubber plugs, charge jack, two-speed adjustment (Jato) ...............

If you have questions or need technical assistance, call Traxxas at:
1-888-TRAXXAS
(1-888-872-9927) (U.S. residents only)

For orders, calls outside the U.S., and other information, call 972-265-8000, or
fax to 972-265-8011 e-mail Traxxas at support@Traxxas.com

TRAXXAS.coMm

REV. 111201 1509



